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Mean radial wind(m/s), HR033

12
16000 - . .
14000 n{\/ *

o
o
12000 3 ’
—

. 100001} .,

E -

— —4

R L ﬁrf#jffffﬁff""ﬂfﬁﬁpﬁfﬂ;ﬁ

C

[

0
— 6
BOO0 -
— -8
4300 A —10
2000 - f 0 —12
EEEE S mmmny —14

e TTT L]
I:I I I I I 1

0 Z0 40 &0 a0 100 120 140 160 180 —16
MIN=—12.9525 MAX=10.3293 Distance from center (km)
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Mean radial wind(m/s), HR048
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Mean radial wind(m/s), HRO51
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Mean radial wind(m/s), HR054
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Mean radial wind(m/s), HR0OB3
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Mean radial wind(m/s), HR0OB6

— E——— —

12

16200 4

14000 1

a 0
12400 —
= “ |

10000 ﬂﬂ? -
8000 - s <] —4

o — 6
£000 1

— -8
1]
4300 A —10
|

2000 - : g——————_"ff— -1z

Z{m)

(H

0 /—Wﬁ# . .

0 70 40 &0 a0 100 120 140 160 180 —16
MIN=—24_ 5717 MAX=11.8853 Distance from center (km)

—14




Mean radial wind(m/s), HROB9Y
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Mean radial wind(m/s), HR0Q72
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Mean radial wind(m/s), HRQ75
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Mean radial wind(m/s), HR0O78
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Mean radial wind(m/s), HR0O84
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Mean radial wind(m/s), HR0O87
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Mean radial wind(m/s), HR0S6
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Mean radial wind(m/s), HR102
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Mean radial wind(m/s), HR105
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Mean radial wind(m/s), HR108
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Mean radial wind(m/s), HR114
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Mean radial wind(m/s), HR117
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Mean radial wind(m/s), HR132
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Mean radial wind(m/s), HR138
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Mean radial wind(m/s), HR144
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